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[FxLUUBRE] X, EMBEARTE L-EEHE (BREGEER) ITMAT, EXEFHEET
BB E T 2 ETHRELE—BRSVERE

R4 B = 4 QOUFEESE | 23D EHEE |23FvL o VHE]  23GEEE
SDIF T JNE DG 50 ha 80 ha 100 ha 337 ha
AEPRBE
BB KIEE S MF T — 1,000 5z 1,100 RE 1,373 RE
BRI R SRS D P Rl PR 10 A 10 A mA 8 A
At e D
FEESFHRS A, B OSAZ LT3 AW S EI 1,093 [=] 1,100 [=] 1,200 [|] 1,222 [q]
(/5253 T)—291 | LT RAI2—TT A DA EFE -5 1 &M 1.1 &M 1.2 &M 1.3 EH
AEST SR (JE4) 21 # 22 #- 25 %t 26 1t
SEHIAR SE DR AR P B R (JBAF) 180 1&H 200 (&M 250 &M 418 &M
ORI EVITAC T VT AT K - 15 ft 20 %t 17 4t
FEFE 55 {0
SLOVHEF 291078 F4A 1 {EH 1.2 &M 1.3 {EA 1.3 {8H
FEHE NEar T BB (EE) 15,319 TEU | 20,000 TEU 22,000 TEU 23,675 TEU
[EBEROROMNZ LB & Ml & 4,715 TEU 10,000 TEU 11,000 TEU 12,426 TEU
RE IR S 1T B a7 A S (JEF4F) 6 ft 6 8 #t 8 %t
BYCRNIAL (BAF) 1,063 5 A 1,100 77 A 1,150 A A 979 B A
BOCHEEE (B 840 &M 870 &M 900 &M 779 1M
L | RSSO B ERITE 35,700 A 50,000 A 55,000 A 58,500 A
B E
BNIZIBIT BT g Bk 212 [A] 230 [=] 250 [@] 235 [g]
B CHT AR E T T H SO A O 244 A 300 A 330 A 302 A
SBIERPL R DT ER 71,565 TM | 75,000 T 80,000 F+H 63,858 +H
SRV RS~ AR R R 60 % 62.5 % 63 % 62.6 %
[5] == P HH A 120 {&H 127 &M 128 &M 127 &M
3R B EE NOFE- BRI 13 #EA 15 A 16 EA 16 3EA
ELR A B PE H D T R 6 PEM 7 PEHH 8 FEh 7 Eth
AR
T T ~DBFEAF s H4E 639 7 H 800 5 M 1,000 M 807 A H
Rk Dt & 44,000 i 47,000 o 50,000 m 47210 m
fipfa S cotifaa—F —REK 154 f&fT 200 f&FT 220 EFr 224 &R
WFERIE OB IREE 39 A 41.1 TN 43 AN 412 BA
TORER | S8R A R D WD SR Il oD T Mk — 10 f gk 15 MEE% 27 1EE%
HET |G SUBAE | O MfiE 29,370 A 30,000 A 33,000 A 33117 A
it 28 #
FrLoY BEERIRR
N EEH
B 7 H21 H22 H23
(@) FreL D BEZEER 11 17 15
A |FrL o BERER (AEREGER) 20 12 9
X FrL o DBEERER(EEBERER) 9 6 4
it 40 35 28

#1443

o O

O OO O P> O O O O x

X

> > O x

X

o op>» o> D> D> O D> b



